Please finish the questions from Thursday before you continue with today’s work:
1. Calculate the cost of building a foundation for a house. The input, the length and width of the house, as well as the depth of the foundation, should be given in meters and the output should be given in CAD. Assume the price of $150 per cubic meter of concrete.

2. The ratio between CAD and USD is 0.93 today. The ratio between EURO and CAD is 1.5 today. Please write a program that will convert CAD dollars to USD and CAD to EUROs. 

 3. Body Mass Index

The Body Mass Index (BMI) is one of the calculations used by doctors to assess an adult’s health.

The doctor measures the patient’s height (in metres) and weight (in kilograms), then calculates the BMI using the formula
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Write a program which prompts for the patient’s height and weight, calculates the BMI, and displays the corresponding message from the table below.

	BMI Category
	Message

	More than 25
	Overweight

	Between 18.5 and 25.0 (inclusive)
	Normal weight

	Less than 18.5
	Underweight


Sample Input 1 (user input is in italics)

Enter weight: 69

Enter height: 1.73

Output for Sample Input 1

Normal weight

Explanation for Output in Sample Input 1

The BMI is 69=(1:73 _ 1:73), which is approximately 23.0545. According to the table, this is a “Normal weight”.

Sample Input 2 (user input is in italics)

Enter weight: 84.5

Enter height: 1.8

Output for Sample Input 2

Overweight

Explanation for Output in Sample Input 2

The BMI is 84.5/(1.8 times 1:8), which is approximately 26.0802. According to    the table, this is “Overweight”.

4. Leap year

Write a program that determines whether a year entered is a leap year or not. The rule for determining a leap year is as follows: A year is a leap year if it is divisible by 4 and not by 100; and every fourth century year is a leap year (these are years that are divisible by 400).

For example: 
1992 is a Leap Year (divisible by 4 and not by100)




1900 is not (divisible by 4 and 100, not by 400)




1993 is not (not divisible by 4)



             2000 Leap Year (divisible by 400)
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